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1 213 4 51 6 7 8 9110 |11 12 13 14 151 16 17 18 19
XKepercbke 2 121) 0,6 | - - - 10C3+bn 8610,60( 1 27 32 380 4¢|BCP} . E 30
JKepeBcbke 6 |15 0,8 | - - - 10C3+bn+0c¢ 8110,70| 1 26 32 450 4¢|BCP g3 40
XKepercbke 11]119] 4,1 - - - 9C31/3+bn 860,70 1aj 29 36 480 4¢|BCP § E 30
Kepescnke 1616 2,5 |(3)] 2,0 | 2,0 10C3+/13 860,60} 1 28 32 410 4¢|BCP : § 25 %
Kepercbke | 22124 1,5 | - - - 10C3 8610,60| 1 26 28 360 3 | BCP g ; 'g 40 5
XKeperceke | 29| 11| 0,1 - - - 10C3 41 10,80 1 15 14 220 4e| 3ax g 28 5 E
Kepescoke | 30 [ 23] 4,7 | - - - 10C3 6610,80] 1 21 22 360 4e|BCP § E 30 ﬁ:’
XKepepceke | 30|26] 1,7 | - - - 9C31/13+bn+I3 8110,70| 1 27 32 420 4¢| BCP E g 35
Kepepcoke | 31| 6] 14 | - - - 9C31/[3+Oc+I'3+bn | 86 10,70 | 1 28 32 450 4¢| BCP é % 20
Keperceke | 3112} 5,7 | - - - 10C3+/13 691080 1 23 24 430 4¢|BCP = 20




Kepeeceke | 31]15) 1,7 | - - - 10C3+bn 860,80 1 25 26 450 4¢| BCP 25
Xepepceke | 47|16 14 | - - - 10C3 571090 1 19 20 360 3e|{BCP 30
Xepepceke | 47 | 18| 1,1 | - - - 10C3 8610,70] 1 27 32 470 3e|BCP 45
XKepesceke | 48 [ 12| 11,4 |(3)] 9,5 9,5 10Cs3 81]0,70( 1 27 28 450 3e| BCP 40
Kepesceke [ 49| 5| 2,8 |(D| 22| 2,2 10Cs3 7610,80] 1 23 26 395 3e| BCP 45
XKepesceke | 51| 3 L5 | - - - 10C3 8610,70| 2 24 32 380 3e|BCP 35
XKepesceke | 51| 4| 3,7 |(2] 3,3 33 10C3+bn 6510,70] 1 22 24 310 3e]|BCP _ 30
Kepesceke | 53| 2| 33 [(2)] 2,6 | 2,6 10C3 7710,70( 1 24 28 375 3e|BCP E 20
XKepesceke | 971 3 1,6 1(2)] 0,8 | 0,8 10C3+bn 660,801 1 22 28 410 4e¢| BCP °:° 45
XKepepceke | 97| 5| 04 | - - - 10C3+/13 4510,801 1 18 20 290 4¢ | BCP § 40
Xepeceke | 981 1 | 0,1 | - - - 10C3+]/]3 4510,801 1 18 20 290 4¢| BCP E 30
Xepescbke 198 | 2| 09 | - - - 10C3+bn+Oc¢ 66080 1 23 26 420 4¢|BCP % 40
Xepescoke | 99 |25 2.8 | - - - 7C32bn10c+/13+Bmy | 71 (0,80 1 24 28 360 4¢| BCP 3 45
XKepeceke 1051 16| 09 | - - - 10C3+/13+bn 8610,70] 1 27 36 430 4e| BCP § 55
Xepeeceke 107 12 1,6 | - - - 8C32bn 660,90 1 23 24 400 4¢ | BCP é 50 9
XKepercbke |107| 30| 1,0 | - - - 10C3 81{0,70| 2 22 26 330 4¢| BCP g 45 L
Kepesceke (108|121 0,8 | - - - 10C3+13+bn 5810,80( 1 22 24 370 4¢ | BCP g 40 g
Xepescbke |108] 24| 0,4 | - - - 10C3+/]3+bn 7610,70] 1 24 28 375 4¢|BCP ;:; 25 -
XepeBceke |111]122] 1,5 | - - - 10C3+S5lne 4910,90] 2 17 18 270 4¢|BCP ; 35 =
Kepesceke (114 12 0,3 | - - - 10C3 8110,40| 1 27 36 340 4¢| BCP g 30
Xepepcbke | 117] 26| 1,8 | - - - 10C3+bn 5610,80]lal 22 26 385 3e| BCP ; 35
Kepebceke [118] 9 | 3,9 |(3)]| 1,9 1,9 9C31bn 860,80 1 26 32 420 3e|BCP g 35
XKepesceke 121/ 28] 1,5 [(2)] 0,6 | 0,6 10C3+bn 8110,80( 1 26 32 500 3e|BCP 2 35
Kepescbke |122( 3 1,5 - - - 9C31bn+0c¢ 96 (0,80 2 25 32 410 3e¢|BCP| S 35
Kepesceke [122] 5| 0,9 [(2)] 0,4 | 04 8C32bn+0c¢ 8110,80] 1 26 32 370 3e|BCP g 40
Kepescbke {122 15| 0,7 |(2)] 0,5 | 0,5 10C3 60]0,80] 1 22 24 390 3¢|BCP 5 45
Xepescbke | 122|171 0,9 | - - - 10C3 1001 0,60 1 27 36 370 3e|BCP 45
Xepercbke |122] 18| 0,2 | - - - 10C3+/13 5510,60( 1 21 24 285 3e|BCP 55
Xepescbke 124 8 | 1,0 | - - - 10C3 8110,70( 2 21 24, 295 3e|BCP 45
XepeBcoke | 66| 11] 1,2 | - - - 10C3 86]0,60| 1 26 32 350 2¢| BCP 30
XKepescexke | 97| 3 1,6 {(2)] 0,8 0,8 10C3+bn 660,80 1 22 28 410 4e¢|BCP 30
Kepescbke {39 10| 54 [(3)] 22| 2,2 9C31/3+bn 8610,70| 1 28 32 460 4¢|BCP 30
XKepesceke |44 [ 17| 1,2 [(2)] 09| 0,9 10C3+]/13 860,70 1 26 28 415 4¢e| BCP 25




Kepeecoke |103] 6 | 6,0 - - - 8C32bn+/3+0c+3 | 66 10,80 1 24 26 370 4¢} BCP E 55

XKepecoke |103| 15| 1,3 | - - - 9C313+I3 5310,80| 1al 23 28 420 4e| BCP 2 § 30
Kepescoke |[107| 21| 1,6 | - - - 9C31bn+O¢ 760,80 1 24 28 390 4¢| BCP = § 35

Kepescoke |[114} 8 | 2,7 | - - - 10C3+/[3+O0c+I"3 6610,70]16] 28 36 460 4¢ | BCP E E 45 o
XKepercoke |115] 9 1,1 - - - 9C31 /13 6610,80]1a|l 26 36 440 4¢|BCP % Fg& 30 ‘E
Keperceke |[115] 15| 1,0 | - - - 10C3+/]3+I'3+Oc 660,80 1a| 26 32 500 4¢| BCP S § 20 E
Xepescbke |115/20] 09 | - - - 10C3 8110,70|1a| 29 36 500 4e| BCP é g 30 Py
Kepecoke |[115{23| 2,7 | - - - 6C32I'31/13 10c+bn | 66 | 0,80 1a] 26 32 340 4e| BCP g 2 45 =
XKepercoke |[115126] 1,1 | - - - 10C3+bn+I3 660,70 1a| 26 32 410 4¢|BCP E g 35

Kepesceke |117f 7 | 3,4 | - - - 10C3+bn+ By 96 10,60]| 2 26 36 340 3e| BCP = é 55

Kepescoke | 118 17| 2,9 | - - - 8C31bnl1Oct+/I3 8110,80( 1 25 32 370 3e|BCP 3 30

Pa3zom: - | - ]1108,8| - |27,7]| 27,7 -
Posaxisceke | 18 { 13| 2,4 | - - - 10Cs3 611070 1a| 23 28 340 4¢| BCP g 40
Possaxisebke | 27| 5| 3,7 | - | - - 10C3+Buu 660,70 1| 23 28 390 4¢| BCP £ 8% 50
PospaxiBebke | 34 | 18| 3,1 |[(2)] 2,5 | 2,5 10C3+Oc+bn 5910,80]|16| 28 28 510 4¢| BCP 8% 5 50 %
PospaxiBepke | 36 {24 23 |(2)| 2,0 [ 2,0 10C3 76 10,70{ 1 26 32 410 4 e | BCP E g § 50 é
Pospaxisebke | 53 130 14 (2] 1,0 | 1,0 10C3 6610,80| 2 18 18 280 . [4e{BCP g g% 40 =
PosBaxiscoke | 69 | 8 | 17,8 |(3)[ 16,6 16,6 10C3+bn+/13 56109016 25 26 495 4¢| BCP é g § 50 s
PosBaxiscbke | 22| 8 | 2,1 - - - 10C3 660,60] 1 24 32 340 4e| BCP 2 & 3 50
PospaxiBebke | 53 [29] 2,9 [(2)] 24 | 2,4 10C3+bn 6610,70] 1 24 28 360 4¢| BCP g 45
Pasom: - | - 1357 ] - |24,5| 24,5

OeneButpke | 27| 3 | 14,5 | - - - 10C3 76 10,80| 1 26 28 470 4¢|BCP 45
®enepunpke | 27 | 10 1,7 | - - - 10C3 7610,80( 2 22 26 410 4¢| BCP = E 40
Oenesuupke | 27 | 18| 1,5 |(2)} 0,5 | 0,5 10C3 91(0,70] 1 26 32 410 4¢|BCP | E g 40
Menepnpke | 32 (23] 1,3 | - - - 10C3 76 10,70 la] 27 32 420 3e|BCP g g 40
Oexepunpke | 37| 6 | 6,4 | - - - 10C3 9110,60] 2 25 26 350 4¢| BCP % § 30 %
DeneBrupke | 43 110 6,7 |(3)| 2,5 | 2,5 10C3 8510,70) 1 25 30 380 4¢| BCP §_ ';‘, § 25 g
®enepuupke | 47 [ 11| 8,7 |(3)| 6,7 | 6,7 10Cs3 81{0,80] 1 27 32 480 4¢|BCP ‘g §. 2 25 E
Denepunpke | 49| 8| 1,7 |(2)] 1,0 | 1,0 10C3 106| 0,60 1 28 32 400 3 | BCP E - 30 s
OeneBunipke | 49 [ 42| 1,8 | - - - 10C3 76 10,70| 1 26 28 410 3 | BCP § g 15
Denesuupke | 55| 1 | 11,4 |(1)| 10,4| 10,4 10C3+bn 7110,701 1 22 26 350 4e| BCP % = 20
DeneBuuske | 66 | 27| 0,7 | - - - 10Cs 101{0,70( 1 28 40 410 3 | BCP = g.?, 20
DeneBunbke | 66 [ 29| 0,3 | - - - 10C3 860,70 1 26 36 400 3 | BCP 20




®enepunpke | 66 | 30| 0,4 - - 10Cs3 7110,80 4 14 18 180 4 | BCP 15 =
®enesnnpke | 66 | 31| 0,7 - - 10C3 61]10,80] 1] 21 26 310 4 | BCP | e f:f:i“"’"“‘. 20 2
®denepuupke | 66 | 33| 0,7 - - 10Cs 860,70 1 26 32 400 4 | BCP |oroin °;°:T‘l’:)"y6"m 20 §
®denepnupke | 66 | 35| 0,9 - - 10C3 36(0,80] 2 11 14 140 4 | BCP 10 s
Pazom: - | -1594 21,11 21,1
Benoro: -1 - 12039 73,31 73,3
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